



**GOVT. POLYTECHNIC LAHAUL & SPITI AT UDAIPUR
CAMP AT SUNDERNAGAR MANDI (HP)**
Email:gpudaipur@gmail.com, Ph.No.01907-266411

No. : GPU/Building./2014- 2669

Dated: 11/03/25

To

The Divisional Forest Office
Lahaul Forest Division at Keylong,
Distt. Lahul and Spiti (H.P.)

Subject: Reply of EDS raised on dated 19/02/2025 on Parivesh Portal
Sir,

This is in reference to EDS raised on dated 19/02/2025 on Parivesh Portal by your good self. In this regard the point wise reply is submitted as below:

- 1.) The minimum land requirement for establishment of technical institution is fixed by All India Council for Technical Education (AICTE). Further as per prescribed norms, minimum land area requirement is 5 acres in rural area for Diploma Level institution. (Copy Enclosed)
- 2.) The Joint Inspection has already been conducted on dated 15.03.2024 by involving officers from Administration, Revenue Department, Forest Department and Technical Education Department.
 - 2.1) As per AICTE norms, merging of institution land with other schools and colleges is not allowed.
 - 2.2) The land described as patch-2 will also be utilized by the institution. It is the part of the total land which is being acquired by the technical education department for establishment of the Polytechnic.
 - 2.3) Institution has already taken the N.O.C from H.P.P.W.D, as per objection raised by Regional Office. However institution has also requested BRO to issue NOC in the favour of this institution.
 - 2.4) The possibility of vertical expansion of blocks will be considered as per the suitability of the site and on the basis of soil bearing capacity in discussion with executive agency.

Hence, it is requested to forward the case to Regional Office at the earliest to pursue the FCA case in respect of this institution.

This is submitted for your kind information and necessary action please

Yours faithfully,

Principal

Govt. Polytechnic L & S at Udaipur
Camp at Sundernagar, Mandi (HP)

Dated: 11/03/25

Endst. No. : As Above- 2670
Copy to :

1. The Director, Technical Education, Vocational & Industrial Training Himachal Pradesh for favour of kind information please.

Principal

Govt. Polytechnic L & S at Udaipur
Camp at Sundernagar, Mandi (HP)

Annexure: I

Norms and Requirements

Appendix 3

3.3 Norms for Intake & Number of Courses / Divisions in the Technical Institutions Post Graduate Degree and Post Graduate Diploma Level

	Intake per division without foreign collaboration	PG divisions without foreign collaboration	Total without foreign collaboration	Intake per Division with Foreign collaboration / Twinning
MCA	60	3	180	60
Management	60	3	180	60
Engineering & Technology	30*	6	180	30
Pharmacy	30*	6	180	30
Architecture & Town Planning	30*	6	180	30
Applied Arts & Crafts	30*	6	180	30
HMCT	30*	6	180	30

- Out of the two divisions allotted in Post Graduate and Post Diploma level, one shall be of "Cyber Security" or Cyber Security related courses in Computer / IT branches of Engineering / Technology.
 - Minimum of 18 seats in steps of 6 up to Maximum 24
 - Additional 6 seats above 24 seats if the course is accredited.
 - New Course with Intake less than 18 shall not be approved. However, existing Courses where approved intake is less than 18 may continue with existing Intake.

3.4 Private Limited or Public Limited Company/Industry Establishing Diploma or Under Graduate or Post Graduate Institute

	Intake per Division	Maximum number of UG courses & / or divisions allowed in the new Institution (Single shift working)	
		Division/s	Intake
Engineering & Technology	60	10	600
Pharmacy	60	6	360
Architecture & Town Planning	60	6	360
Applied Arts & Crafts	60	6	360
HMCT	60	6	360

a New Technical Institution in Engineering & Technology, Pharmacy, Architecture & Town Planning, and HMCT established by a Private Limited or Public Limited Company/Industry having turnover of at least Rs

	100 Cr per year for previous 3 years shall be eligible for application and granted approval for intake as above following due procedure as per Approval Process Handbook.
b	The Institute setup by such a Private Limited or Public Limited Company/Industry shall be governed by the rules as in Chapter 1
c	Private Limited or Public Limited Company/Industry Establishing Diploma or Under Graduate or Post Graduate Institute may choose any course from the approved list of any size as intake not exceeding maximum as above and in any combination in the same program.

Appendix 4

Norms for Land requirement and Building Space for Technical Institution

4.1 Land Requirements for Technical Institutions

	Land Area requirement in Acres					
	Other than Rural places (Competent Authority to certify that the place is not located in a rural area)			Rural Places as defined by Competent Authority		
	UG Programs	Diploma	Stand alone Post Graduate Programs	UG Programs	Diploma	Stand alone Post Graduate Programs
Engineering & Technology	2.50	1.50	2.5	10.0	5.00	10.0
Pharmacy	0.75	0.75	0.75	2.00	2.00	2.00
Architecture & Town Planning	1.00	1.00	1.00	2.50	2.50	2.50
Applied Arts & Crafts	0.75	0.75	0.75	2.00	2.00	2.00
HMCT	1.00	1.00	1.00	2.50	2.50	2.50
MCA	--	--	0.50	--	--	1.50
Management	--	--	0.50	--	--	1.00

4.1.1	a	Land area shall cover hostel facilities, if any
	b	Land shall be in one continuous piece.
	c	Considering hilly nature of land in North Eastern States, land may be made available in 3 pieces which are not away from each other by more than 1 Km

4.2 Built-up Area Requirements

4.2	a	The Institution area is divided in, Instructional area (INA, carpet area in sq. m.), Administrative area (ADA, carpet area in sq. m.), Amenities area (AMA, carpet area in sq. m.).
	b	Circulation area (CIA) is equal to $0.25 \times (INA + ADA + AMA)$.
	c	Total built up area in sq. m. is equal to $(INA + ADA + AMA) + (CIA)$.

norms) in the Institution

1	\$ Technical Campus having more than one Program
2	* Technical Institution having one Program

Amenities Area (Carpet Area) in sqm

1	* Estimated total area for Technical Campus having more than one Program
2	§ Estimated total area for Technical Campus having one Program

Circulation Area in sqm

4.2.4 a Circulation area of 25% of sum of Instructional, Administrative and Amenities area is desired covering common walk ways, staircases, entrance lobby